
Revised 12-24-2021 

 

Airfield Models 

Spring Hill, Florida USA 

webmaster@airfieldmodels.com 

2022 Price List 

________________________________________________________________________________________________________________________________________________________________________________________________________________________ 

Magnetic Fixture System II Set, Small, Birch Plywood $110.00 

Magnetic Fixture System II Set, Small/Medium, Birch Plywood $168.50 

Magnetic Fixture System II Set, Medium, Birch Plywood $189.50 

Magnetic Fixture System II Set, Standard, Birch Plywood $252.50 

Magnetic Fixture System II Set, Large, Birch Plywood $320.75 

Magnetic Fixture System II Set, Small, Birch Plywood, No Magnets $80.00 

Magnetic Fixture System II Set, Small/Medium, Birch Plywood, No Magnets $125.75 

Magnetic Fixture System II Set, Medium, Birch Plywood, No Magnets $140.25 

Magnetic Fixture System II Set, Standard, Birch Plywood, No Magnets $195.00 

Magnetic Fixture System II Set, Large, Birch Plywood, No Magnets $257.25 

Fixture, 1-1/2" 4-Magnet Assembly, Birch Plywood (1 Pair) $10.75 

Fixture, 2-1/2" 4-Magnet Assembly, Birch Plywood (1 Pair) $12.25 

Fixture, 3-1/2" 4-Magnet Assembly, Birch Plywood (1 Pair) $13.75 

Fixture, 5-1/2" 4-Magnet Assembly, Birch Plywood (1 Pair) $16.75 

Fixture, 7-1/2" 6-Magnet Assembly, Birch Plywood (1 Pair) $22.25 

Fixture, 7-1/2" 6-Magnet Assembly w/5" Extensions, Birch Plywood (1 Pair) $40.50 

Fixture Extension Assembly, 5", Birch Plywood (1 Pair) $20.25 

Fixture, 1-1/2" 4-Magnet Assembly, Birch Plywood (1 Pair), No Magnets $6.25 

Fixture, 2-1/2" 4-Magnet Assembly, Birch Plywood (1 Pair), No Magnets $7.75 

Fixture, 3-1/2" 4-Magnet Assembly, Birch Plywood (1 Pair), No Magnets $9.25 

Fixture, 5-1/2" 4-Magnet Assembly, Birch Plywood (1 Pair), No Magnets $12.25 

Fixture, 7-1/2" 6-Magnet Assembly, Birch Plywood (1 Pair), No Magnets $15.50 

Fixture, 7-1/2" 6-Magnet Assembly w/5" Extensions, Birch Plywood (1 Pair), No Magnets $34.00 

Vertical Press Assembly, Hardwood (1 Pair) $15.75 

Face Clamp Assembly, Maple (1 Pair) $18.00 

Latch Magnet Assembly, 20 Sets $21.75 

Latch Magnet Assembly, 50 Sets $50.50 

Latch Magnet Assembly, 100 Sets $99.00 

Latch Magnet Assembly, 20 Sets (With Fixture Set Order) $19.50 

Latch Magnet Assembly, 50 Sets (With Fixture Set Order) $45.50 

Latch Magnet Assembly, 100 Sets (With Fixture Set Order) $89.00 

Vertical Press Mounting Hardware (Mounts 4 Vertical Presses) $3.00 

Magnet Mounting Hardware (Six 4-Magnet or Four 6-Magnet Fixtures) $3.00 

Thumb Screw, 1-3/4", Brass (1 Pair) $5.00 

Sanding Block, 180/220 Dual-Grit $5.50 
________________________________________________________________________________________________________________________________________________________________________________________________________________________ 



Product Contents 

Magnetic Fixture System II Set, Small, Birch Plywood 

(4) Clamp Pad, 5/8" x 7/8", Hardwood 

(6) Fixture, 1-1/2" 4-Magnet Birch Plywood 

(4) Fixture, 2-1/2" 4-Magnet Birch Plywood 

(4) Fixture, 3-1/2" 4-Magnet Birch Plywood 

(1) Hex Key, 7/64" Black Oxide Steel 

(1) Instructions, Magnetic Fixture System II 

(56) Latch Magnet Assembly 

(30) Nut, 10-24 Hex, Zinc Plated Steel 

(8) Nut, 6-32 Hex, Black Oxide Steel 

(1) Sanding Block, 180/220 Dual-Grit 

(30) Screw, 10-24 x 1" Machine, Pan Head Phillips, Zinc Plated Steel 

(4) Screw, 10-24 x 1-5/8" Machine, Hex Head, Black Oxide Steel 

(4) Screw, 10-24 x 1-5/8" Machine, Pan Head Phillips, Zinc Plated Steel 

(2) Screw, 10-24 x 2-1/2" Machine, Pan Head Phillips, Zinc Plated Steel 

(8) Screw, 6-32 x 5/8" Machine, Socket Cap Black Oxide Steel 

(4) Vertical Press, Hardwood 

(16) Washer, Flat #6, Black Oxide Steel 

Magnetic Fixture System II Set, Small/Medium, Birch Plywood 

(6) Clamp Pad, 5/8" x 7/8", Hardwood 

(6) Fixture, 1-1/2" 4-Magnet Birch Plywood 

(6) Fixture, 2-1/2" 4-Magnet Birch Plywood 

(4) Fixture, 3-1/2" 4-Magnet Birch Plywood 

(4) Fixture, 5-1/2" 4-Magnet Birch Plywood 

(1) Hex Key, 7/64" Black Oxide Steel 

(1) Instructions, Magnetic Fixture System II 

(80) Latch Magnet Assembly 

(44) Nut, 10-24 Hex, Zinc Plated Steel 

(12) Nut, 6-32 Hex, Black Oxide Steel 

(1) Sanding Block, 180/220 Dual-Grit 

(44) Screw, 10-24 x 1" Machine, Pan Head Phillips, Zinc Plated Steel 

(6) Screw, 10-24 x 1-5/8" Machine, Hex Head, Black Oxide Steel 

(4) Screw, 10-24 x 1-5/8" Machine, Pan Head Phillips, Zinc Plated Steel 

(2) Screw, 10-24 x 2-1/2" Machine, Pan Head Phillips, Zinc Plated Steel 

(12) Screw, 6-32 x 5/8" Machine, Socket Cap Black Oxide Steel 

(6) Vertical Press, Hardwood 

(24) Washer, Flat #6, Black Oxide Steel 



Magnetic Fixture System II Set, Medium, Birch Plywood 

(6) Clamp Pad, 5/8" x 7/8", Hardwood 

(6) Fixture, 1-1/2" 4-Magnet Birch Plywood 

(6) Fixture, 2-1/2" 4-Magnet Birch Plywood 

(4) Fixture, 3-1/2" 4-Magnet Birch Plywood 

(4) Fixture, 5-1/2" 4-Magnet Birch Plywood 

(2) Fixture, 7-1/2" 6-Magnet Birch Plywood 

(1) Hex Key, 7/64" Black Oxide Steel 

(1) Instructions, Magnetic Fixture System II 

(92) Latch Magnet Assembly 

(48) Nut, 10-24 Hex, Zinc Plated Steel 

(12) Nut, 6-32 Hex, Black Oxide Steel 

(1) Sanding Block, 180/220 Dual-Grit 

(48) Screw, 10-24 x 1" Machine, Pan Head Phillips, Zinc Plated Steel 

(6) Screw, 10-24 x 1-5/8" Machine, Hex Head, Black Oxide Steel 

(4) Screw, 10-24 x 1-5/8" Machine, Pan Head Phillips, Zinc Plated Steel 

(2) Screw, 10-24 x 2-1/2" Machine, Pan Head Phillips, Zinc Plated Steel 

(12) Screw, 6-32 x 5/8" Machine, Socket Cap Black Oxide Steel 

(6) Vertical Press, Hardwood 

(24) Washer, Flat #6, Black Oxide Steel 

Magnetic Fixture System II Set, Standard, Birch Plywood 

(8) Clamp Pad, 5/8" x 7/8", Hardwood 

(2) Fixture Extension, 5" Plywood 

(6) Fixture, 1-1/2" 4-Magnet Birch Plywood 

(4) Fixture, 2-1/2" 4-Magnet Birch Plywood 

(4) Fixture, 3-1/2" 4-Magnet Birch Plywood 

(4) Fixture, 5-1/2" 4-Magnet Birch Plywood 

(6) Fixture, 7-1/2" 6-Magnet Birch Plywood 

(1) Hex Key, 7/64" Black Oxide Steel 

(1) Instructions, Magnetic Fixture System II 

(108) Latch Magnet Assembly 

(56) Nut, 10-24 Hex, Zinc Plated Steel 

(24) Nut, 6-32 Hex, Black Oxide Steel 

(1) Sanding Block, 180/220 Dual-Grit 

(56) Screw, 10-24 x 1" Machine, Pan Head Phillips, Zinc Plated Steel 

(8) Screw, 10-24 x 1-5/8" Machine, Hex Head, Black Oxide Steel 

(4) Screw, 10-24 x 1-5/8" Machine, Pan Head Phillips, Zinc Plated Steel 

(2) Screw, 10-24 x 2-1/2" Machine, Pan Head Phillips, Zinc Plated Steel 

(4) Screw, 6-32 x 3/4" Machine, Socket Cap, Black Oxide Steel 

(24) Screw, 6-32 x 5/8" Machine, Socket Cap Black Oxide Steel 

(8) Vertical Press, Hardwood 

(48) Washer, Flat #6, Black Oxide Steel 



Magnetic Fixture System II Set, Large, Birch Plywood 

(12) Clamp Pad, 5/8" x 7/8", Hardwood 

(4) Fixture Extension, 5" Plywood 

(6) Fixture, 1-1/2" 4-Magnet Birch Plywood 

(4) Fixture, 2-1/2" 4-Magnet Birch Plywood 

(4) Fixture, 3-1/2" 4-Magnet Birch Plywood 

(4) Fixture, 5-1/2" 4-Magnet Birch Plywood 

(8) Fixture, 7-1/2" 6-Magnet Birch Plywood 

(1) Hex Key, 7/64" Black Oxide Steel 

(1) Instructions, Magnetic Fixture System II 

(120) Latch Magnet Assembly 

(64) Nut, 10-24 Hex, Zinc Plated Steel 

(40) Nut, 6-32 Hex, Black Oxide Steel 

(1) Sanding Block, 180/220 Dual-Grit 

(64) Screw, 10-24 x 1" Machine, Pan Head Phillips, Zinc Plated Steel 

(12) Screw, 10-24 x 1-5/8" Machine, Hex Head, Black Oxide Steel 

(4) Screw, 10-24 x 1-5/8" Machine, Pan Head Phillips, Zinc Plated Steel 

(2) Screw, 10-24 x 2-1/2" Machine, Pan Head Phillips, Zinc Plated Steel 

(8) Screw, 6-32 x 3/4" Machine, Socket Cap, Black Oxide Steel 

(40) Screw, 6-32 x 5/8" Machine, Socket Cap Black Oxide Steel 

(12) Vertical Press, Hardwood 

(80) Washer, Flat #6, Black Oxide Steel 

Magnetic Fixture System II Set, Small, Birch Plywood, No Magnets 

(4) Clamp Pad, 5/8" x 7/8", Hardwood 

(6) Fixture, 1-1/2" 4-Magnet Birch Plywood 

(4) Fixture, 2-1/2" 4-Magnet Birch Plywood 

(4) Fixture, 3-1/2" 4-Magnet Birch Plywood 

(1) Hex Key, 7/64" Black Oxide Steel 

(1) Instructions, Magnetic Fixture System II 

 (8) Nut, 6-32 Hex, Black Oxide Steel 

(1) Sanding Block, 180/220 Dual-Grit 

(4) Screw, 10-24 x 1-5/8" Machine, Hex Head, Black Oxide Steel 

(4) Screw, 10-24 x 1-5/8" Machine, Pan Head Phillips, Zinc Plated Steel 

(2) Screw, 10-24 x 2-1/2" Machine, Pan Head Phillips, Zinc Plated Steel 

(8) Screw, 6-32 x 5/8" Machine, Socket Cap Black Oxide Steel 

(4) Vertical Press, Hardwood 

(16) Washer, Flat #6, Black Oxide Steel 



Magnetic Fixture System II Set, Small/Medium, Birch Plywood, No Magnets 

(6) Clamp Pad, 5/8" x 7/8", Hardwood 

(6) Fixture, 1-1/2" 4-Magnet Birch Plywood 

(6) Fixture, 2-1/2" 4-Magnet Birch Plywood 

(4) Fixture, 3-1/2" 4-Magnet Birch Plywood 

(4) Fixture, 5-1/2" 4-Magnet Birch Plywood 

(1) Hex Key, 7/64" Black Oxide Steel 

(1) Instructions, Magnetic Fixture System II 

(12) Nut, 6-32 Hex, Black Oxide Steel 

(1) Sanding Block, 180/220 Dual-Grit 

(6) Screw, 10-24 x 1-5/8" Machine, Hex Head, Black Oxide Steel 

(4) Screw, 10-24 x 1-5/8" Machine, Pan Head Phillips, Zinc Plated Steel 

(2) Screw, 10-24 x 2-1/2" Machine, Pan Head Phillips, Zinc Plated Steel 

(12) Screw, 6-32 x 5/8" Machine, Socket Cap Black Oxide Steel 

(6) Vertical Press, Hardwood 

(24) Washer, Flat #6, Black Oxide Steel 

Magnetic Fixture System II Set, Medium, Birch Plywood, No Magnets 

(6) Clamp Pad, 5/8" x 7/8", Hardwood 

(6) Fixture, 1-1/2" 4-Magnet Birch Plywood 

(6) Fixture, 2-1/2" 4-Magnet Birch Plywood 

(4) Fixture, 3-1/2" 4-Magnet Birch Plywood 

(4) Fixture, 5-1/2" 4-Magnet Birch Plywood 

(2) Fixture, 7-1/2" 6-Magnet Birch Plywood 

(1) Hex Key, 7/64" Black Oxide Steel 

(1) Instructions, Magnetic Fixture System II 

(12) Nut, 6-32 Hex, Black Oxide Steel 

(1) Sanding Block, 180/220 Dual-Grit 

(6) Screw, 10-24 x 1-5/8" Machine, Hex Head, Black Oxide Steel 

(4) Screw, 10-24 x 1-5/8" Machine, Pan Head Phillips, Zinc Plated Steel 

(2) Screw, 10-24 x 2-1/2" Machine, Pan Head Phillips, Zinc Plated Steel 

(12) Screw, 6-32 x 5/8" Machine, Socket Cap Black Oxide Steel 

(6) Vertical Press, Hardwood 

(24) Washer, Flat #6, Black Oxide Steel 



Magnetic Fixture System II Set, Standard, Birch Plywood, No Magnets 

(8) Clamp Pad, 5/8" x 7/8", Hardwood 

(2) Fixture Extension, 5" Plywood 

(6) Fixture, 1-1/2" 4-Magnet Birch Plywood 

(4) Fixture, 2-1/2" 4-Magnet Birch Plywood 

(4) Fixture, 3-1/2" 4-Magnet Birch Plywood 

(4) Fixture, 5-1/2" 4-Magnet Birch Plywood 

(6) Fixture, 7-1/2" 6-Magnet Birch Plywood 

(1) Hex Key, 7/64" Black Oxide Steel 

(1) Instructions, Magnetic Fixture System II 

(24) Nut, 6-32 Hex, Black Oxide Steel 

(1) Sanding Block, 180/220 Dual-Grit 

(8) Screw, 10-24 x 1-5/8" Machine, Hex Head, Black Oxide Steel 

(4) Screw, 10-24 x 1-5/8" Machine, Pan Head Phillips, Zinc Plated Steel 

(2) Screw, 10-24 x 2-1/2" Machine, Pan Head Phillips, Zinc Plated Steel 

(4) Screw, 6-32 x 3/4" Machine, Socket Cap, Black Oxide Steel 

(24) Screw, 6-32 x 5/8" Machine, Socket Cap Black Oxide Steel 

(8) Vertical Press, Hardwood 

(48) Washer, Flat #6, Black Oxide Steel 

Magnetic Fixture System II Set, Large, Birch Plywood, No Magnets 

(12) Clamp Pad, 5/8" x 7/8", Hardwood 

(4) Fixture Extension, 5" Plywood 

(6) Fixture, 1-1/2" 4-Magnet Birch Plywood 

(4) Fixture, 2-1/2" 4-Magnet Birch Plywood 

(4) Fixture, 3-1/2" 4-Magnet Birch Plywood 

(4) Fixture, 5-1/2" 4-Magnet Birch Plywood 

(8) Fixture, 7-1/2" 6-Magnet Birch Plywood 

(1) Hex Key, 7/64" Black Oxide Steel 

(1) Instructions, Magnetic Fixture System II 

(40) Nut, 6-32 Hex, Black Oxide Steel 

(1) Sanding Block, 180/220 Dual-Grit 

(12) Screw, 10-24 x 1-5/8" Machine, Hex Head, Black Oxide Steel 

(4) Screw, 10-24 x 1-5/8" Machine, Pan Head Phillips, Zinc Plated Steel 

(2) Screw, 10-24 x 2-1/2" Machine, Pan Head Phillips, Zinc Plated Steel 

(8) Screw, 6-32 x 3/4" Machine, Socket Cap, Black Oxide Steel 

(40) Screw, 6-32 x 5/8" Machine, Socket Cap Black Oxide Steel 

(12) Vertical Press, Hardwood 

(80) Washer, Flat #6, Black Oxide Steel 



Fixture, 1-1/2" 4-Magnet Assembly, Birch Plywood (1 Pair) 

(2) Fixture, 1-1/2" 4-Magnet Birch Plywood 

(8) Latch Magnet Assembly 

(4) Nut, 10-24 Hex, Zinc Plated Steel 

(4) Screw, 10-24 x 1" Machine, Pan Head Phillips, Zinc Plated Steel 

Fixture, 2-1/2" 4-Magnet Assembly, Birch Plywood (1 Pair) 

(2) Fixture, 2-1/2" 4-Magnet Birch Plywood 

(8) Latch Magnet Assembly 

(4) Nut, 10-24 Hex, Zinc Plated Steel 

(4) Screw, 10-24 x 1" Machine, Pan Head Phillips, Zinc Plated Steel 

Fixture, 3-1/2" 4-Magnet Assembly, Birch Plywood (1 Pair) 

(2) Fixture, 3-1/2" 4-Magnet Birch Plywood 

(8) Latch Magnet Assembly 

(4) Nut, 10-24 Hex, Zinc Plated Steel 

(4) Screw, 10-24 x 1" Machine, Pan Head Phillips, Zinc Plated Steel 

Fixture, 5-1/2" 4-Magnet Assembly, Birch Plywood (1 Pair) 

(2) Fixture, 5-1/2" 4-Magnet Birch Plywood 

(8) Latch Magnet Assembly 

(4) Nut, 10-24 Hex, Zinc Plated Steel 

(4) Screw, 10-24 x 1" Machine, Pan Head Phillips, Zinc Plated Steel 

Fixture, 7-1/2" 6-Magnet Assembly, Birch Plywood (1 Pair) 

(2) Fixture, 7-1/2" 6-Magnet Birch Plywood 

(12) Latch Magnet Assembly 

(6) Nut, 10-24 Hex, Zinc Plated Steel 

(6) Screw, 10-24 x 1" Machine, Pan Head Phillips, Zinc Plated Steel 

Fixture, 7-1/2" 6-Magnet Assembly w/5" Extensions, Birch Plywood (1 Pair) 

(2) Fixture Extension, 5" Plywood 

(2) Fixture, 7-1/2" 6-Magnet Birch Plywood 

(12) Latch Magnet Assembly 

(6) Nut, 10-24 Hex, Zinc Plated Steel 

(8) Nut, 6-32 Hex, Black Oxide Steel 

(6) Screw, 10-24 x 1" Machine, Pan Head Phillips, Zinc Plated Steel 

(4) Screw, 6-32 x 3/4" Machine, Socket Cap, Black Oxide Steel 

(8) Screw, 6-32 x 5/8" Machine, Socket Cap Black Oxide Steel 

(16) Washer, Flat #6, Black Oxide Steel 



Fixture Extension Assembly, 5", Birch Plywood (1 Pair) 

(2) Fixture Extension, 5" Plywood 

(8) Nut, 6-32 Hex, Black Oxide Steel 

(4) Screw, 6-32 x 3/4" Machine, Socket Cap, Black Oxide Steel 

(8) Screw, 6-32 x 5/8" Machine, Socket Cap Black Oxide Steel 

(16) Washer, Flat #6, Black Oxide Steel 

Vertical Press Assembly, Hardwood (1 Pair) 

(2) Clamp Pad, 5/8" x 7/8", Hardwood 

(4) Nut, 6-32 Hex, Black Oxide Steel 

(2) Screw, 10-24 x 1-5/8" Machine, Hex Head, Black Oxide Steel 

(4) Screw, 6-32 x 5/8" Machine, Socket Cap Black Oxide Steel 

(2) Vertical Press, Hardwood 

(8) Washer, Flat #6, Black Oxide Steel 

Face Clamp Assembly, Maple (1 Pair) 

(1) Clamp Head, 1-1/4" Left, Maple 

(1) Clamp Head, 1-1/4" Right, Maple 

(2) Face Clamp Base, Maple 

(2) Nut, 6-32 T, Plated Steel 

(4) Screw, #6 x 1/2" Sheet Metal, Black Oxide Steel 

(2) Screw, 10-32 x 3/8" Machine Thumb, Nylon 

(2) Screw, 6-32 x 1/2" Machine, Socket Cap, Black Oxide Steel 

(2) Tube, 3/16" x 2" Brass 

(6) Washer, Flat #6, Black Oxide Steel 

Vertical Press Mounting Hardware (Mounts 4 Vertical Presses) 

(8) Nut, 6-32 Hex, Black Oxide Steel 

(8) Screw, 6-32 x 5/8" Machine, Socket Cap Black Oxide Steel 

(16) Washer, Flat #6, Black Oxide Steel 

Magnet Mounting Hardware (Six 4-Magnet or Four 6-Magnet Fixtures) 

(12) Nut, 10-24 Hex, Zinc Plated Steel 

(12) Screw, 10-24 x 1" Machine, Pan Head Phillips, Zinc Plated Steel 


